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Al A

2A: JI=EN G2
I AFSAPHI(OIZ 0SS 2) (JIEHIIE
&elr D=3l (SH9 H2)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
J|EI 0l A S 2 10,070,255 9,399,506 670,749
= 10,000 0 10,000
(= 12,227 12,227 0
= 10,048,028 9,387,279 660,749
™ SAZHI (120 A ES2H) (JIEHIIE 70,398 73,844 N3,446
=kl 70,398 73,844 N3,446
Jl2&yl 70,398 73,844 3,446
201 Let2 oY) 37,774 39,724 A1,950
01 Al22t2|H] 35,914 37,804 A1,890
OAR22IH| olarE 2= -1,890,0002 A1,890 0 A1,890
2 I2294| 1,860 1,920 AB0
O3329H| HlarEzs -60,000& 260 0 AB0
202 04| 28,424 29,920 A1,49%
01 204t 28,424 29,920 A1,49%
O30 olatE2Z -1,49,000& A1,49%6 0 1,496
TH2E L (LS SHET/ULEE) 2,288,442 2,254,250 34,192
= 10,000 0 10,000
[ 12,227 12,227 0
= 2,266,215 2,242,023 24,192
I8 & Ot 253,711 242,790 10,921
= 10,000 0 10,000
= 243,711 242,790 921
DEAINY 2 TH 195,136 183,180 11,956
= 10,000 0 10,000
= 185,136 183,180 1,956
201 LEt29Y| 155,836 142,180 13,656
= 10,000 0 10,000
= 145,836 142,180 3,656
01 Al22t2|H| 83,386 71,180 17,206
OAtR2teldl olaE22 -2,7%,000& N2,79%4 0 A2,79%
OY 2= 20,0002 * 1,00004 20,000 0 20,000
= 10,000 0 10,000
= 10,000 0 10,000
2 32294| 10,450 11,000 550
O32329H HlaEzds -550,000& £550 0 AB50
03 HAI2SYI 57,000 60,000 3,000
OdAr2ZHl HE2AZ2
3,000,000 3,000 0 3,000
202 04| 26,600 28,000 A1,400
01 20t 26,600 28,000 A1,400
O=U0Hl oaE2= -1,400,000& A1,400 0 A1,400
203 LR =FIY| 5,700 6,000 A300




2A:

X XH -
o=

ool Jlsl 9 mp o (cre:xigl)
SA - A BR(8) - HRAR - BaS o e JEE! HDE2
CREETCEEST 5.700 5.000 2300
OANBZHASET| HaE2E
300, 0002 A300 0 A300
B 2 Ane 53,065 53,810 N
201 Ler2H] 13.216 3.910 ~6%
EERT 13.216 13,910 ~6%
OAFRERIH HlaELE 695, 0002 ~6% 0 ~6%
301 YerEE 950 1,000 A50
14 A 90 1,000 ~50
OJlErEAE oaETE 50,0002 A5 0 A5
Zoraora? 5510 5.800 A2
201 Ler2] 5510 5.800 A2
EEEI 5510 5.800 ~2%0
OAfRBRIH HaEE ~290,0002! A2 0 A2
AMHEES 306,434 298,650 7.784
NSRS 196,051 197.8% ~2.845
201 Ler2H] 39,802 40,346 ~544
01 AF 2RIt 30,802 10,346 54
OAFRBIRIH BlAE2E 54,0002 A544 0 A544
202 01t 141,800 144,000 ~2,200
01 =Ui0i 41,800 44,000 2,200
O=UotHl oarmE 2,200,000 22,200 0 £2,200
208 @R =& 4,449 4,550 A101
R EETCEEST 4,449 4,550 101
OABZHASET| HaE2E
~102,7002! A101 0 A 101
S R NS =P 111,383 100,754 10,629
308 KA EHHIS 01 & 61,226 50,507 10,629
1 2SR A= SIS A 61,22 50,507 10,629
OMEREINAE XS4
61,226,0002! 61,228 50,507 10,629
202 =Y 2 SR %.5% %.302 ~1.,706
HEII 2N 53,452 54,182 AT
201 Ler2] 27,070 27,100 A0
@ ZZ=2| 570 600 A0
OzZ2YH HaE2E 30,0002 A 0 A%
202 01t 9.576 10,080 ~504
ETT 9,576 10,080 504
O=UjotHl oaE2E 504, 0002 A5 0 A504
208 ZRE A 1,824 1,920 ~%
e CEE ST 1,824 1,620 ~%
OANBEHADETM| MR
96,0002 A% 0 ~%




2A:

-

JI=O A E E2

I ZY2E € TH(LUS3F/LLAT)
oelr SAIE EE & R EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
301 LetENZ 1,900 2,000 A 100
BIE2d= 1,900 2,000 A 100
OJIEtRds OMESE -100, 000 A100 0 A100
HET g4 40,144 41,120 N976
201 Zet=3hl 30,644 31,620 N976
01 AlR22telHl 30,644 31,620 N976
OAtR 22t oidEZE -976,000 A976 0 1976
zEE2ZE 1,451,858 1,454,655 N2,797
&R 657,798 659,295 A1,497
201 B2l 640,945 641,555 2610
2 s323H| 11,590 12,200 A610
O3s2gHl MEZ= -610,000 £A610 0 2610
202 04l 11,628 12,240 NB12
01 A 11,628 12,240 NB12
O=U0Hl HlarZd=2 -612,000 NB12 0 NB12
203 HR=AY] 5,225 5,500 N275
03 AIF=&IH 2= 5,225 5,500 A275
OAHZTL2FTH| o222
-275,000& N275 0 N275
OICiER 794,060 795,360 21,300
405 THaHE S| 26,700 28,000 21,300
01 MM =ZFSHI 26,700 28,000 A 1,300
O ESHSHl HlatE a2
-1,300,000& 21,300 0 21,300
827 2 SHZA 175,881 155,593 20,288
< 12,227 12,227 0
i 163,654 143,366 20,288
SYR 3 L AXER 2Ac 126,503 105,240 21,263
201 ZBt=Ehl 90,873 69,340 21,533
01 Ar2teltl 90,873 69,340 21,533
OAtR2teidl olatE 2= 3,467,000 N3,467 0 A3,467
OASBAIY BSA =22
25,000,000 25,000 0 25,000
202 04l 5,130 5,400 A270
01 A 5,130 5,400 N270
O=Uobl oaEHE -270,000 A270 0 A270
28 SHEZA & X2 22 11,951 12,580 629
201 Zet=3hl 10,431 10,980 AB549
01 AlR2telHl 10,146 10,680 !
OAtR 22t oidEZE -534,0002 ! 0 !
2 33234l 285 300 A15
O3s2gHl MEZ= -15,000& A15 0 A15




FA JIEMA g2
M 228 & TF(LS3HEZ/LLAT)
el HR 2 SHZA (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
202 0| 1,520 1,600 A80
01 2oL 1,520 1,600 A80
O=uoigl o= 80,000 A80 0 A80
AP HIZ=AL 12,040 12,350 2310
201 Ler2 3| 7,544 7,854 2310
01 AtR2te|HI 7,544 7,854 A310
OAtR2teidl olatEa = -310,000& A310 0 A310
HAAES 2 g2 =X 692 728 N36
201 Let2aY| 692 728 N36
01 At 2teltl 692 728 N36
OArz2teldl oaaa= 36,000 A36 0 36
RS selEg= 6,962 7,260 N298
THONY =& 29 6,962 7,260 1298
201 Ler2aY| 1,900 2,000 2100
01 At 2teltl 1,900 2,000 A100
OArZ2telt] OlaHE L= -100,000 A100 0 A100
202 Ot 2,850 3,000 2150
01 2oL 2,850 3,000 A150
O=Uoibl Ha2z= -150,000& A150 0 A150
208 BF =2l 912 960 N8
03 A=Y R =AY 912 960 VAV
OAHFIYRZ=AH| HMES=E
-48,000 A48 0 N8
oldlgI(olbIBl/0BI8I) 7,711,412 7,071,412 640,000
ofluI] 7,711,412 7,071,412 640,000
oflb1gl 7,711,412 7,071,412 640,000
801 ofiblbl 7,711,412 7,071,412 640,000
B URRES 711,412 71,412 640,000
OURRE= 711,412,000& 711,412 71,412 640,000
MPESOIZ0agg2) (LeSSHI/ME - =8) 3 0 3
2N 3 0 3
=CHl 223 gEs 3 0 3
802 Btet=IIEr 3 0 3
02 Al - THIE XSS 3 0 3
020238 HE AL ZAL ZHE By
3,000 3 0 3




